11/16 & 11/18

CS150


Section week 12

This week: Karnaugh maps, State minimization 

1. K-maps
Making K-maps. 




       Terms:

Minterm:

Implicant:

Prime implicant:

Essential implicant:

Maxterm…

Simplify:           _  _  _     _ _               _         _ _        _


OUT = XYZ + XYZ + XYZ + XYZ + XYZ = ________________________

using K-maps.

2.
Glitches and K-maps:

K-map simplified equation:






Equation drawn in gates:






Can a glitch occur on the 110 ( 111 transition?






How can you fix it using a K-map?

3. State minimization

Given the STD below, use a state implication table to find and draw the reduced state transition diagram.

Things that make two states equal:

1.

2.






State Implication Chart




   Initial STT


Present	   Next State	Output


State 	   X=0    X=1
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Step 1:





Step 2:





Step 3:





Reduced STD





   Reduced STT


Present	   Next State	Output


State 	   X=0    X=1
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